4th Quarterly report for Abbott Labs                   
Date:
02-14-13
Percentage change in Sales from year ago quarter________4.43%  
Percentage change in Earnings per Share from year ago quarter_​​​​___-38.89%_________
Is company meeting our target sales & earnings estimates?   ____no____
Pre-tax Profit on sales trend?   (up, even, down)
_____Down____________
Return on equity trends?  (up, even, down)
________
down_______
Debt?  (up, even, down)
_Even______________

Current PE is ___9.4_____.   

 Where does it fall in my estimated High/low range of PE's?___middle______

Signature PE =___7.8%______
Club cost basis for this stock is ____$23.01______.    Current price is ____$35.08______

      (from latest valuation)

Current fair value:  Morningstar     $34.00________         S&P:_____$44.00______________
My SSG Total Return is _____18.4%_______Projected Average Return is  ____13.1%
MStar: “we now have a clearer picture of how profitable the remaining segments--nutritionals, devices, diagnostics, and established pharmaceuticals--really are. The picture is not pretty. Even though Abbott competes in businesses that are characterized by attractive margins, it appears to lag key rivals on profitability measures.”  

S&P: Nutritional products are among ABT’s faster growing segments helped by foreign penetration. Also growth in diagnostics, strong demand for molecular diagnostic products and laboratory diagnostics. New products—stents—medical devices, and generic drugs.  

Manifest Inv: 5-yr EPS Forecast $3.43; Annualized Price Appreciation 6.5%; Projected Average Price $48.06; Sales growth forecast: 7.6%

What will drive future growth? Margin expansion will be critical to future valuation growth. Nutritional products should be among faster growing segments, plus new products and greater penetration of foreign markets. Also growth for diagnostics, new products such as Xience stent and mitral valve repair system, and expansion of generic drugs in emerging markets. 

Additional comments: Everything looks on track for the completion of the split by the end of the year. AbbVie will likely carry the bulk of the current Abbott debt, and will pay out a higher dividend of $1.60 per share (assuming similar share count of AbbVie relative to current Abbott) versus the future Abbott's dividend of $0.56. The total dividend of the two future entities is 6% higher than the current dividend of Abbott. ABT will remain a strong growth company. 

Recommend: Buy More _______, Hold ____x____, Challenge with a better investment,  Sell _______
